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Text : 40 M 
(1) Prose : 

(i) Rsea' (U) 
(2). Prose: 

(i) RHa (Sclcctcd 16 slokes 
as in he prcscribcd text 

(3) Drama 

(i) sýafReNA (Sclccted 10 
slokas) 

Curriculum & Syllabus 
SANSKIRIT 

Class XI 

) 'afo (efAibA) 
Amplification of 4 Marks from Prose 
and poctry (any' one) 

* Prose and Drama number of 
periods=35 P 

Full Marks : 100 

* Poetry Text number of Periods = 
15 P 

(3) Sanskrit Gramm¡r 

(4) History of Vediç.& Classical Sanskrit 
Literature 

(i) 
(ii) 

(v) 

(2, JG) (ü) 4A-419 
(iv): Selccted eUT 
$ 

(6) Comprehension Test or 
* Translation from Bengali or 

English or Hindi into Sanskrit 
Comprchension test strictly 

from $T and Rcoic 
Excluding the Sclected Picccs 

(7) Translatiot from sanskrit into 

Bengali or English or Hindi 

(G O) 

(8) Sanskrit Project (21b1 Vio aA 

12 M number of periods = 20 P 

12 M number of periods = 15 P 

12 M number of periods = 1S P 

20 M number of periods = 20 P 

20 M number of periods = 25 P 

SM number of periods = 5 

SM numbcr of periods = 5P 

10M nunber of periods = $P 



Text: 40 M 

(2) : 

(3) IDNR: 

(4) FR0IRCOT ORi (afr9 (aiR): 

(3) 70 K9: 

Class XI 

(8) Kg0 (aicaD (T g) 

21-2 
2×2=4 

Ix6-6 

2x1-2 

2x2=4 

| x6=6 

|x4=4 

2x1=2 

2x2-4 

|x6=6 

-20 M 

5x2=10 

2x5=10 

20 M 
2x1=2 

2x1=2 

3x1=3 
3x1=3 

4x]=4 

2x1=2 

4x]=4 

5 M 

3 M 

10 M 



Text : 40 M 
(1) Prosc: 

(2) Poctry 

slokas) 
(3) Drama : 

Curriculum & Syllabus 
SANSKRIT 

(i) RF3-7Q0 (7NIENITA Selccted 

(5) Sanskrit Graimmar 

Class XII 

20N (Selected) 

Full Marks : 100 

(4) History of Sanskrit Literature 

(6) Sanskrit Linguistics : 

Amplification of 4 Marks from Prose and poetry 4 m 
(any one) 

12 M number of periods 
= 20 P 

(7) Translation from Bengali or English or 
Hindi into Sanskrit (Strictly from 9 
qRR RCOC excluding the selected 
picces (fk fono IGI YCQ7 Sfo) 

(8) Short Paragraph Writing (T2G RZO 4/5 
KiH Uc24 bel) out knowledge) 

12 M number of periods 
= 15 P 

12 M number of periods 
= 15 P 

20 M number of 

periods = 20 P 

20 M number of periods 
= 25 P 

10 M nunmber of periods 
= 5 P 

5 M number of periods = 
5 P 

5 M number of periods 
= 5P 



Text (40 M) 
() 57: 

(2) 3 

(3) IDJ0R: 

(3) 7 <4: 

jy1-100 

(8) 11 R5 BRA WAIKE 3/4 IC 

21-2 
22-4 

2x1=2 
2x2=4 

1×6-6 

Ix4-4 

2x1=2 

2×2-4 

| ×6=6 

20 M 
5x2=10 

2x5=10 

20 M 

3x1=3 

2x2-4 

4x]=4 

3x]=3 

3×2=6 

20 M 

5x2=10 

5 M 
5 

5 M 
5 
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